BRENIENIEERETER

TENFHR XEAXRBEET

i FE SHTEE f2EE MBEE MaEE FSEE

+ X I = 79.4 79.6 79.7 79.6 79.9

B OFE I = 78.7 78.0 79.2 79.0 79.7

x B I = 79.1 79.3 79.2 79.1 80.2

& K I = 79.2 79.3 79.5 79.3 79.9
TERITFHSR

FE

18 f2EE MBEE MaEE FSEE

+ X I = 80.5 80.4 80.2 80.7

B OFE I = 78.0 79.3 79.1 79.8

x B I = 79.8 80.2 79.7 80.6

& K I = 79.8 80.1 79.8 80.5
RRAEHENTEH R GAEERZRTED)

1 FE f2EE MBEE MaEE FSEE
EREE®E (X XK) 77.3 77.9 78.0 775
EREHE(BZE) 78.0 78.3 78.6 79.3
EHEEHE(KE) 76.5 75.8 76.7 77.9

® K £ 71.3 715 77.8 778
ITiERRE R (EEXEHED)

i FE SHTEE f2EE MBEE MaEE FSEE

+ X I = 86.1 85.8 87.2 85.8 86.0

B OFE I = 86.6 86.3 875 86.9 86.5

x B I = 84.6 84.7 86.4 85.5 84.6

& K I = 86.6 86.3 875 86.9 86.5




